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Solution:-
Q.1 a) Two error criteria each 2.5 marks
b) Spatial resolution and grey level resolution each 2.5 marks
¢) Opening diagram and example
d) Homomorphic filter diagram, equation and explanation
Q.2 a)
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b) Explain the edge linking technique (3 Marks) and Hough transform with example (7
marks)
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Q. 3 a) Each laplacian and convolution property proof carry 5 Marks
b) Each prewitt and composs operator with mask carry 5 Marks

Q4 a)
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b) 1. Hit and Miss transformation explanation with example 5 Marks

2. Thinning and thickening transformation explanation 5 marks
Q.5 a) ldeal Low pass filter explanation

e Blurring and ringing effects
e Explain how to avoid blurring and ringing
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Signature explanation 5 marks

LZW with example 5 marks

Butterworth diagram with equation and explanation
Point detection mask and explanation

Various image types



